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Guess Paper – 2010

Class – XII

Subject – Chemistry

TIME- 3 HRS                                                                                       M.M-70

NOTE-1. Question no 1 to Question no-8 carry 1 marks.

            2. Question no 9 to Question no-18 carry 2 marks

            3. Question no 19 to Question no-27 carry 3 marks

            4. Question no 28 to Question no-30 carry 5 marks

1.Why does physisorption decrease with the increase of temperature.?(1)
2.Give an example of Ionisation isomers?(1)
3.Write IUPAC  name of  CH3 –CH( CH3 ) –CH (Br ) –CH2OH  (1)
4.Draw structure of 3-oxopentanal.(1)
5.Why alkyl amines are more basic than ammonia ?(1)
6. What are reducing  sugars ?  (1)
7. What are LDPE and HDPE ? (1)
8.What problems arises in using alitame as artificial sweeteners ?(1)
9. Explain with example (a)  Schottky defect  (b)  Frenkel defect   (2)
10. Silver has cubic closed packed structure. It has edge length 4.07 X 10 -8   
      cm  and density 10.5 gm/ cm3 . Calculate atomic mass of silver . (2)
11. What is meant by negative deviation from Raoult’s law ?Draw diagram 
      to illustrate the relationship between  vapour pressure and mole fraction
      of components in a solution  to represent negative deviation ?(2)
12. Explain conductivity and molar conductivity of weak electrolyte with 
     dilution ? (2)
13 Explain the following about the transition elements-                (2)
    (a)  Oxidation states       (b)    Catalytic property 

14. Explain splitting of d- orbital in octahedral complexes ?  (2)
15. Convert- (a)  1-Bromopropane to 2- bromopropane 

                     (b)  Propene to Propan-1-ol                       (2)
16. Why C – X  bond in halo arene is shorter snd stronger ? (2)
17. What are biodegradable polymers ? Give two examples ? (2)
18. Explain with example cationic and anionic detergents ? (2)
19. Calculate the depression in freezing point of water when 2 gm of         

     CH3 CH2 CH Cl COOH  is added to 500 gm of water .

     Kf = 1.86 KKg/Mole    ,    Ka =  1.4 X 10  -3    MB =  122.5 gm/mole (3)
20.The electrical resistance of a column of .05 M NaOH solution of diameter

     1 cm and length 50 cm is 5.55 X 10 3 ohm.  Calculate resistivity ,  

     conductivity and molar conductivity .?  (3)
21.Explain-                            (1X3 = 3)
(a)  Why alum is added to water for purification ?

(b)  How  delta is formed ?

(c)  How will you prepare Arsenius sulphide sol in water.?

22. The value of D f G0  for formation of Cr2O3  is  - 540 Kj/mole. And  that      

     of Al2O3  is  -827  kj/mole. Is the reduction of Cr2O3  possible  with 
     Al.?(3)
23. Explain-                         (1X3=3)
(a)  Why does nitrogen show catenation less than  phosphorous ?

(b)  Why  P-Cl   bonds in PCl5 are not of equal length ?

(c )  Why  NCl5  is not known ?  

24. Explain lanthanoid  contraction  and its  consequences ?  (3)
25. What happens when ethanol is heated with sulphuric acid  at 453 K.?

     Explain mechanism of the reaction ?  (3)
26. Distinguish by a chemical test –                      (1X3=3)
     (a)  Aniline  and  benzyl amine 

     (b)  Methyl amine and dimethyl amine 

     (c) Ehyl amine and aniline 

27. What are amino acids ? On electrolysis in an acidic solution , the amino 

      ion migrates towards cthode while in alkaline solution they migrate 

      towards anode .Why ?   (3)
28. For the decomposition of azoisopropane  to hexane and nitrogen at 

     543K , the following data is obtained-

	TIME  (SECOND )                               
	 PRESSURE  (mm of Hg)

	
	

	0
	35

	360
	54

	720
	63


Calculate  the rate law ?                       (5)
29.  Explain –                                                   (1X5 =5)
      (a)  HF is less volatile than HCl 

      (b)  SF6  is less reactive than SF4

      (c)  Sulphur in vapour state shows paramagnetism 

      (d)  XeF2   +      PF5   ---------(   …………………
      (e)  Fluorine  exhibit  only -1  oxidation state .

30.  An organic compound “A”  Molecular  formula  C8H8O  forms an 
       orange red precipitate  “B” with  2,4-DNP  reagent  . Compound “A” 
       gives  yellow precipitate “C” when heated with iodine and alkali. NaOH  

       along with  a colourless compound  “D” .  “A”  does not reduce tollens 

       reagent  or  Fehling solution nor does it decolourise  bromine water . On 

       drastic  oxidation  of “A” with chromic acid  , a carboxylic acid  “E”  of 

       molecular formula  C7H6O2  is  formed .  Deduce the structure  of “A” to 

        “E” with reactions ?      (5)
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